IB Pre HL Name: Key

Graphing Rational Functions with Oblique Asymptotes Period: v

Pertorm a long or synthetic division and state the oblique asymptotes. And find vertical 1symptote(‘-}) hole(s},
x-intercept(s ) and y-intercept. And then sketch the graph showing all these elements. )
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Practice WS: fg’?

1. Without a calculator, sketch a complete graph of each function including the vertical and horizontal or
oblique asymptotes, holes, x -intercepts, y -intercept and end behavior. Check your answers on your graphing

atteched

calculator.

a. f(x):———-——————— b, f(x)

2. I'ind a rational function with the given information.

d.

h.
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Vertical asymptotes; x=3 and x= -1.
Horizontal asymptote: y= %

Holes: none

x-intercepts: (5, 0} and (-2, 0}
y-intercept: (0, 5/38)

N

Vertical asymptotes; x=1 and x= -1,
Horizontal asymptote: y=0

Holes: none =
x-intercepts: (-3/2, 0)

y-intercept: (0, -1)

Vertical asymptotes; x=1/2.

Horizontal asymptote: y=-1/2 :";
Holes: -1

x-intercepts: (4, O)

y-intercept: (0, -4
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